(HEX)

mE A B C D E F G H | J (HEX)

nE it B e S e B e B e B0 . 30 Mt 2A 20| —#
1 TS-4X2-01C 10. 5 16 5 3.5 (4.35| 0.9 | 1.75| M8X0.75| R1/8 5 10
2 TS-4X2-02C 10.5 17 5 3.5 [4.35]| 0.9 | 1.75| M8X0.75| R1/4 7 14
3 TS-4X2.5-01C 10.5 16 5 3.5 (4.35| 1.3 | 2.35| M8X0.75| R1/8 5 10
4 TS-4X3-01C 10.5 16 5 3.5 (4.35]| 2.0 | 2.75| M8X0.75| R1/8 5 10
5 TS-6X4-01C 10. 5 16 5 3.5 |6.45| 2.7 | 3.75| M10X1 | R1/8 5 10
6 TS-6X4-02C 10. 5 17 5 3.5 |6.45| 2.7 | 3.75| MI0X1 | R1/4 7 14
7 TS-6X4.5-01C 10.5 16 5 3.5 |6.45| 3.2 | 4.25| M10X1 | R1/8 5 10
8 TS-6X4.5-02C 10.5 17 5 3.5 [6.45| 3.2 | 4.25| M10X1 | R1/4 7 14
9 TS-8X5-01C 10.5 16 5 3.5 (8.45| 3.7 | 4.75| M12x1 | R1/8 5 12
10 TS-8X5-02C 10.5 17 5 3.5 (8.45| 3.7 | 4.75| M12X1 | R1/4 7 14
11 TS-8X6-01C 10. 5 16 5 3.5 |8.45| 4.7 |5.75| M2X1 | R1/8 5 12
12 TS-8X6-02C 10.5 17 5 3.5 (8.45| 4.7 | 5.75| M12X1 | R1/4 7 14
13 TS-8X6-03C 10.5 18 5 3.5 (8.45| 4.7 | 5.75| M12X1 | R3/8 9 17
14 TS-10X6. 5-02C 11.5 17 5 4.5 | 10.5| 5.2 | 6.30| MI5X1 | R1/4 7 15
15 TS-10X6. 5-03C 11.5 18 5 4.5 | 10.5| 5.2 | 7.25| MI5X1 | R3/8 9 17
16 TS-10X7.5-02C 11.5 17 5 4.5 | 10.5| 6.2 | 7.25| MI5X1 | R1/4 7 15
17 TS-10X7.5-03C 11.5 18 5 4.5 10.5| 6.2 | 7.75| M15X1 | R3/8 9 17
18 TS-10X8-02C 11.5 17 5 4.5 | 10.5| 6.7 | 7.75| M15X1 | R1/4 7 15
19 TS-10X8-03C 11.5 18 5 4.5 10.5| 6.7 | 7.70 | M15X1 | R3/8 9 17
20 TS-12X8-03C 11.5 18 6 4.5 | 12.5| 6.6 | 7.70 | MI7X1 | R3/8 9 17
21 TS-12X9-02C 11.5 17 6 4.5 | 12.5| 7.6 | 8.70| MI7X1 | R1/4 7 17
22 TS-12X9-03C 11.5 18 6 4.5 | 12.5| 7.6 | 8.70| MI7X1 | R3/8 9 17

fFRB  9008.3.5

Trusco SOk SH **

D499 Y=L ARy 53—

=
[=]=}

&

1S-4x2-01C~12x9-03C




